a(6 @) (rad)
a(d cot(B))

1072

=
S
w
=
S
w

8 [ fe) [ H
= L = o |
3 - - LR - H R AL -1 © 15 i I
24 15: | i {1 L] ] 14 F n
EI il | L L Gt i '
1_—"'" ik ¢ i ; {il Liah! N NEd
s T [ : : H ok B

-2 -1 0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

|
w

|
w

=~ 1 -~ 1
€ L: [S i
e - c
~ [ >
s ° :
g N © :
107 A e 10 107 i
L ’ L.o... :T : L EH T HEHAA - - - - -
O10—2|||||||||||||||||||||||||||| O10—2|||||||||||||||||||||||||||||
B 1k : . T 15k : il
24 15: | 5 o E | {[[1]
I : 5 L. 3 4 ¥ THH BEN
1t UL : t HLTTE
-3 -1 0 1 2 3 023 -1 0 3

TP n (PCA to beamline) TP n (PCA to beamline)

107%

-3 2

10

Rat

=

0 L L
-1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


